
ƴǊǔ�ǙǚǘǛǝǖǖǒǚǘǌǊǜǦ�ǋǏǛǔǘǗǏǡǗǘǏ�ǔǘǕǒǡǏǛǜǌǘ�ǛǕǊǍǊǏǖǥǟ"

Ʒƪ�ƶƪƼƯƶƪƼƲǁƯƻƴƸƶ�ǉƱǅƴƯ�

ƺǊǛǛǖǘǜǚǒǖ�ǋǏǛǔǘǗǏǡǗǥǏ�Ǜǝǖǖǥ��ǚǩǎǥ��

ƪ� 1 + Z�+ a�+ ... + m������� �"

ƫ� 1 + c�+ k�+ ... + mÁ������� �"

Ƭ� 1 + 0,99 + 0,992������� �"

ƴǘǗǏǡǗǊ�ǒǕǒ�ǋǏǛǔǘǗǏǡǗǊ�ǔǊǐǎǊǩ�ǛǝǖǖǊ"�

ƮǚǝǍǒǖǒ�ǛǕǘǌǊǖǒ��ǚǊǌǗǊ�Ǖǒ�ǘǗǊ�ǔǊǔǘǖǝ�ǜǘ�ǡǒǛǕǝ���������������

�ǒ�ǏǛǕǒ�ǎǊ��ǜǘ�ǔǊǔǘǖǝ"��ǒǕǒ�ǋǝǎǏǜ�ǋǏǛǔǘǗǏǡǗǘ�ǚǊǛǜǒ��

ǙǚǏǌǘǛǟǘǎǩ�ǕǨǋǘǏ�ǗǊǙǏǚǏǎ�ǑǊǎǊǗǗǘǏ�ǡǒǛǕǘ"

ƲƻƼƸƺƲǉ� Ƽǚǒ�ǔǝǑǗǏǡǒǔǊ��ƪ, ƫ�ǒ�Ƭ��ǙǚǥǍǊǨǜ�ǘǜ�ǑǏǖǕǒ�ǔ�ǕǝǗǏ��

ǑǊǌǒǛǊǩ�ǌ�ǌǘǑǎǝǟǏ��ƴǝǑǗǏǡǒǔ�ǝǛǜǊǏǜ�Ȃ�Ǚǚǥǐǘǔ�ǝǖǏǗǦǢǊǏǜǛǩ�

 ��Ǚǚǥǐǘǔ� ��Ǚǚǥǐǘǔ� ��Ǚǚǥǐǘǔ

ƴƽƱƷƯǁƲƴ ƪ 1 Z a ...

ƴƽƱƷƯǁƲƴ ƫ 1 c k ...

ƴƽƱƷƯǁƲƴ Ƭ 1 0,99 0,992 ...

ƷǊ�ǔǊǔǘǓ�ǌǥǛǘǜǏ�ǘǔǊǐǏǜǛǩ�ǔǊǐǎǥǓ�ǔǝǑǗǏǡǒǔ�ǙǘǛǕǏ�ǋǏǛǔǘǗǏǡǗǘǍǘ�

ǔǘǕǒǡǏǛǜǌǊ�Ǚǚǥǐǔǘǌ"

ƴǘǍǎǊ�ǗǒǋǝǎǦ�ǔǝǑǗǏǡǒǔ�ǎǘǙǚǥǍǗǏǜ�ǎǘ�ǕǝǗǥ�ǒǕǒ�ǗǏ�ǛǖǘǐǏǜ�

ǙǘǎǗǩǜǦǛǩ�ǌǥǢǏ�ǘǙǚǏǎǏǕǏǗǗǘǓ�ǌǥǛǘǜǥ"

1 Z a

ƽǚǘǔ����ƫǏǛǔǘǗǏǡǗǥǏ�Ǜǝǖǖǥ��ƺǩǎǥ�



ƻǝǖǖǊ�ǚǩǎǊ�����Z�+ a�+ ...
ƽǚǘǔ����ƫǏǛǔǘǗǏǡǗǥǏ�Ǜǝǖǖǥ��ƺǩǎǥ�

ǁǜǘǋǥ�ǎǘǔǊǑǊǜǦ��ǡǜǘ�ǛǝǖǖǊ�ǚǩǎǊ ǔǘǗǏǡǗǊ��ǗǝǐǗǘ�ǙǘǙǚǘǋǘǌǊǜǦ ǝǌǏǕǒǡǒǜǦ ǏǪ�ǛǕǊǍǊǏǖǥǏ�ǜǊǔǒǖ�ǘǋǚǊǑǘǖ��ǡǜǘǋǥ�ǎǕǩ�ǗǘǌǘǓ�

�ǝǌǏǕǒǡǏǗǗǘǓ��Ǜǝǖǖǥ�ǛǜǊǕǘ�ǘǡǏǌǒǎǗǘ��ǡǜǘ�ǘǗǊ�ǔǘǗǏǡǗǊ��

ǁǜǘǋǥ�ǎǘǔǊǑǊǜǦ��ǡǜǘ�ǛǝǖǖǊ�ǚǩǎǊ ǋǏǛǔǘǗǏǡǗǊ��ǗǝǐǗǘ�ǙǘǙǚǘǋǘǌǊǜǦ ǝǖǏǗǦǢǒǜǦ ǏǪ�ǛǕǊǍǊǏǖǥǏ�ǜǊǔǒǖ�ǘǋǚǊǑǘǖ��ǡǜǘǋǥ�ǎǕǩ�ǗǘǌǘǓ�

�ǝǖǏǗǦǢǏǗǗǘǓ��Ǜǝǖǖǥ�ǛǜǊǕǘ�ǘǡǏǌǒǎǗǘ��ǡǜǘ�ǘǗǊ�ǋǏǛǔǘǗǏǡǗǊ�

 

 

ƷǘǌǥǓ�ǚǩǎ�ǗǏǘǍǚǊǗǒǡǏǗǗǘ�ǚǊǛǜǏǜ��ǜǊǔ�ǔǊǔ�ǌǛǏǍǎǊ�ǖǘǐǏǖ�ǝǖǏǗǦǢǒǜǦ

ǎǘǛǜǊǜǘǡǗǘǏ�ǔǘǕǒǡǏǛǜǌǘ�ǙǘǛǕǏǎǘǌǊǜǏǕǦǗǥǟ��ǛǕǊǍǊǏǖǥǟ�ǜǊǔ��ǡǜǘǋǥ�ǌ�ǛǝǖǖǏ�ǙǘǕǝǡǒǕǊǛǦ Z��ƷǘǌǥǓ�ǚǩǎ�ǖǏǗǦǢǏ��ǡǏǖ�ǒǛǟǘǎǗǥǓ��

ƱǗǊǡǒǜ��ǛǝǖǖǊ�ǒǛǟǘǎǗǘǍǘ�ǚǩǎǊ�ǜǘǐǏ�ǋǏǛǔǘǗǏǡǗǊ�

Ʒƪ�ƶƪƼƯƶƪƼƲǁƯƻƴƸƶ�ǉƱǅƴƯ�   

ƪ

ƪ

Ư

Q� 1 + Z�+ a�+ … + m�> A

1 Z a

     «ƮǕǩ�ǕǨǋǘǍǘ�ǡǒǛǕǊ�ƪ�ǛǝǣǏǛǜǌǝǏǜ�ǜǊǔǘǏ�ǡǒǛǕǘ�n,

�������������������������ǡǜǘ�ǛǝǖǖǊ�1 + Z�+ a�+ … + m�ǋǘǕǦǢǏ�A»

Z

Á

Z

Ã
ƺƪƻƻƶƸƼƺƲƶ�ƺǉƮ�ƻ�ƽƶƯƷǆǂƯƷƷǅƶƲ�ƻƵƪƭƪƯƶǅƶƲ�   1 + Z�+ c�+ c�+ i�+ i�+ i�+ i�+ X�+ ... + X�+ ...

Z

ÀÅ

ƮƸƴƪưƯƶ�ƫƯƻƴƸƷƯǁƷƸƻƼǆ�ƻƽƶƶǅ�   1 + Z�+ a�+ c�+ d�+ f�+ h�+ i�+ k�+ ... + X�+ ...



ƮǘǔǊǐǏǖ�ǔǘǗǏǡǗǘǛǜǦ�Ǜǝǖǖǥ�ǚǩǎǊ�ǍǏǘǖǏǜǚǒǡǏǛǔǒ�

ƴǊǐǎǘǏ�ǛǕǊǍǊǏǖǘǏ�ǚǊǌǗǘ�ǙǕǘǣǊǎǒ�ǑǊǔǚǊǢǏǗǗǘǍǘ�ǔǌǊǎǚǊǜǊ��

Ƭ�ǙǘǕǘǛǏ�ǢǒǚǒǗǘǓ Z ǙǘǖǏǛǜǒǖ 2 ǔǌǊǎǚǊǜǊ�Ǜǘ�ǛǜǘǚǘǗǊǖǒ Z ǒ a
Ƭ�ǙǘǕǘǛǏ�ǢǒǚǒǗǘǓ c ǙǘǖǏǛǜǒǖ 4 ǔǌǊǎǚǊǜǊ�Ǜǘ�ǛǜǘǚǘǗǊǖǒ c, d, f, h 

Ƭ�ǙǘǕǘǛǏ�ǢǒǚǒǗǘǓ i ǙǘǖǏǛǜǒǖ 8 ǔǌǊǎǚǊǜǊ�Ǜǘ�ǛǜǘǚǘǗǊǖǒ i, k, ...

Ǉǜǘǜ�ǙǚǘǠǏǛǛ�ǖǘǐǗǘ�ǙǚǘǎǘǕǐǊǜǦ�ǎǘ�ǋǏǛǔǘǗǏǡǗǘǛǜǒ��ǚǊǑǎǏǕǒǖ�ǘǛǜǊǌǢǝǨǛǩ�ǙǘǕǘǛǝ�ǙǘǙǘǕǊǖ�ǒ�ǙǘǖǏǛǜǒǖ�ǌ�ǗǏǏ�ǗǘǌǥǓ�ǗǊǋǘǚ�

ǔǌǊǚǎǊǜǒǔǘǌ��ǒ�ǘǛǜǊǗǏǜǛǩ�ǛǌǘǋǘǎǗǘǏ�ǖǏǛǜǘ��

ƱǗǊǡǒǜ��ǛǝǖǖǊ�ǋǏǛǔǘǗǏǡǗǘǍǘ�ǚǩǎǊ�ǛǕǊǍǊǏǖǥǟ�ǋǝǎǏǜ�ǖǏǗǦǢǏ�Ǜǝǖǖǥ�ǙǕǘǣǊǎǏǓ�ǎǌǝǟ�ǔǌǊǎǚǊǜǘǌ�Ǜǘ�ǛǜǘǚǘǗǘǓ�1��ǜǘ�ǏǛǜǦ�ǖǏǗǦǢǏ�2.

�ǍǎǏ�Ü �>Ǚǒ@��Ȃ�ǧǜǘ�ǡǒǛǕǘ��ǔǘǜǘǚǘǏ�ǒǑǝǡǊǨǜ�ǌ�ǛǜǊǚǢǒǟ�ǔǕǊǛǛǊǟ��1+ c�+ k�+ X�+ ... < 2
 

1+ c�+ k�+ X�+ ... =
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1

Z a c
c

ƻǝǖǖǊ�ǚǩǎǊ�����c�+ k�+ ...

1 c k

ƽǚǘǔ����ƫǏǛǔǘǗǏǡǗǥǏ�Ǜǝǖǖǥ��ƺǩǎǥ�
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ƻǝǖǖǊ�ǚǩǎǊ�1 + 0,99 + 0,992 + ...
ƽǚǘǔ����ƫǏǛǔǘǗǏǡǗǥǏ�Ǜǝǖǖǥ��ƺǩǎǥ�

1 0,99 0,992

ƷǏǛǖǘǜǚǩ�ǗǊ�ǜǘ��ǡǜǘ�ǌǗǊǡǊǕǏ�ǧǜǘǜ�ǔǝǑǗǏǡǒǔ�ǙǚǥǍǊǏǜ�ǌǥǢǏ�ǙǚǏǎǥǎǝǣǒǟ��Ǚǘǜǘǖ�ǘǗ�ǛǒǕǦǗǘ�ǝǛǜǊǪǜ��ƷǊǓǎǏǖ��ǡǏǖǝ�ǚǊǌǗǊ�ǛǝǖǖǊ�ǚǩǎǊ�

1 + 0,99 + 0,992  + 0,993 + ...�ǒ�ǜǏǖ�ǛǊǖǥǖ�ǙǘǔǊǐǏǖ��ǗǊǛǔǘǕǦǔǘ�ǌǥǛǘǔǘ�ǛǖǘǐǏǜ�ǙǘǎǗǩǜǦǛǩ�ǧǜǘǜ�ǔǝǑǗǏǡǒǔ�

• ƮǕǩ�ǗǊǡǊǕǊ�ǚǊǛǛǖǘǜǚǒǖ�ǋǘǕǏǏ�ǙǚǘǛǜǘǓ�ǛǕǝǡǊǓ��ǝǖǏǗǦǢǏǗǒǏ�ǙǚǥǐǔǊ�ǗǏ�ǗǊ�����Ǌ�ǗǊ������

ƴǊǐǎǥǓ�ǛǕǏǎǝǨǣǒǓ�Ǚǚǥǐǘǔ�Ȃ�ǙǘǕǘǌǒǗǊ�ǘǜ�ǙǚǏǎǥǎǝǣǏǍǘ��ƺǊǛǛǜǘǩǗǒǏ�ǎǘ 2 ǔǊǐǎǥǓ�ǚǊǑ�

ǛǘǔǚǊǣǊǏǜǛǩ�ǌǎǌǘǏ��Ǘǘ�ǗǒǔǘǍǎǊ�ǗǏ�ǙǚǏǌǑǘǓǎǏǜ 2.

ƹǚǒ�ǋǏǛǔǘǗǏǡǗǘǖ�ǛǝǖǖǒǚǘǌǊǗǒǒ�ǛǝǖǖǊ�ǋǝǎǏǜ�ǚǊǌǗǊ ǌ�ǜǘǡǗǘǛǜǒ����ǜǊǔ�ǔǊǔ�ǋǏǛǔǘǗǏǡǗǘ�ǖǊǕǥǟ�ǘǜǚǏǑǔǘǌ�ǗǏ�ǛǝǣǏǛǜǌǝǏǜ�

• ƬǏǚǗǏǖǛǩ�ǔ�ǑǊǎǊǡǏ��ƹǚǏǎǙǘǕǘǐǒǖ��ǡǜǘ�ǛǝǖǖǊ�ǚǩǎǊ�ǚǊǌǗǊ�ǡǒǛǕǝ ǟ�����������������2 + … = ǟ  ƼǘǍǎǊ�0,99 ǟ = 0,99 +0 ,992 +…
ƯǛǕǒ ǟ Ȃ�ǧǜǘ�ǔǘǗǏǡǗǘǏ�ǡǒǛǕǘ��ǜǘ�ǌ��99%�ǘǜ ǟ ǌǟǘǎǩǜ�ǌǛǏ�ǛǕǊǍǊǏǖǥǏ��ǌǟǘǎǩǣǒǏ�ǌ ǟ��ǔǚǘǖǏ�ǙǏǚǌǘǍǘ� 1.

ƹǘǕǝǡǊǏǖ�ǝǚǊǌǗǏǗǒǏ��0,99 ǟ = ǟ Ȃ��. ƺǏǢǒǖ�ǝǚǊǌǗǏǗǒǏ��1 = 0,01 ǟ���ǑǗǊǡǒǜ� ǟ = 100.

• ƸǛǜǊǕǘǛǦ�ǎǘǔǊǑǊǜǦ�ǡǜǘ�ǧǜǊ�ǛǝǖǖǊ�ǎǏǓǛǜǌǒǜǏǕǦǗǘ�ǔǘǗǏǡǗǊ��ǜǘ�ǏǛǜǦ x ��ȭ.

ƱƪƮƪƷƲƯ��ƽǋǏǎǒǜǦǛǩ��ǡǜǘ x ��ȭ��ǙǘǔǊǑǊǌ��ǡǜǘ�ǚǊǛǛǜǘǩǗǒǏ�ǎǘ�100�ǋǝǎǏǜ�ǛǘǔǚǊǣǊǜǦǛǩ�ǌ�ǘǎǗǘ�ǒ�ǜǘ�ǐǏ�ǔǘǕǒǡǏǛǜǌǘ�ǚǊǑ��ǊǗǊǕǘǍǒǡǗǘ�

ǚǩǎǝ�1 + Z�+ c�+ i�+ X�+ ...���ƼǘǍǎǊ�ǝǜǌǏǚǐǎǏǗǒǏ��ǡǜǘ x = 100��ǋǝǎǏǜ�ǌǏǚǗǥǖ�

1 + Z�+ c�+ i�+ X�+...

1 20



ƻǝǖǖǒǚǘǌǊǗǒǏ�ǋǏǛǔǘǗǏǡǗǥǟ�ǚǩǎǘǌ�Ȃ�ǛǕǘǐǗǊǩ�ǑǊǎǊǡǊ��ƷǊǓǜǒ�ǜǘǡǗǘǏ�ǑǗǊǡǏǗǒǏ�Ǜǝǖǖǥ�ǒǗǘǍǎǊ�ǋǥǌǊǏǜ�ǛǕǘǐǗǏǏ��ǡǏǖ�
ǎǘǔǊǑǊǜǦ��ǡǜǘ�ǘǗǊ�ǔǘǗǏǡǗǊ�

ƶǅ�ƺƪƻƻƶƸƼƺƯƵƲ�ƻƵƯƮƽǈǃƲƯ�ƹƺƲƶƯƺǅ�

ƪ� 1 + Z�+ a�+ ... + m�+ ... = ȭ ƫ� 1 + c�+ k�+ ... + mÁ�+ ... < 2 Ƭ� 1 + 0,99 + 0,992 + ... = 100

ƻǝǖǖǊ�ǚǩǎǊ�ǖǘǐǏǜ�ǋǥǜǦ ǔǘǗǏǡǗǊ ǒǕǒ ǋǏǛǔǘǗǏǡǗǊ —�ǧǜǘ�ǑǊǌǒǛǒǜ�ǘǜ�ǔǘǗǔǚǏǜǗǥǟ�ǛǕǊǍǊǏǖǥǟ��ǌǟǘǎǩǣǒǟ�ǌ�Ǜǝǖǖǝ�
ƹǚǏǐǎǏ�ǡǏǖ�ǗǊǡǊǜǦ�ǎǘǔǊǑǥǌǊǜǦ��ǗǝǐǗǘ�ǙǚǏǎǙǘǕǘǐǒǜǦ��ǔǘǗǏǡǗǊ�ǒǕǒ�ǋǏǛǔǘǗǏǡǗǊ�ǛǝǖǖǊ�ǚǊǛǛǖǊǜǚǒǌǊǏǖǘǍǘ�ǚǩǎǊ�

ƸǋǘǋǣǏǗǒǏ
1 0,99 0,992

ƽǚǘǔ����ƫǏǛǔǘǗǏǡǗǥǏ�Ǜǝǖǖǥ��ƺǩǎǥ�

ǁǜǘǋǥ�ǎǘǔǊǑǊǜǦ��ǡǜǘ�ǛǝǖǖǊ�ǚǩǎǊ ǔǘǗǏǡǗǊ��ǗǝǐǗǘ�Ǖǒǋǘ�
ǙǘǙǚǘǋǘǌǊǜǦ ǝǌǏǕǒǡǒǜǦ ǧǜǝ�Ǜǝǖǖǝ��ǝǌǏǕǒǡǒǌ�ǏǪ�ǛǕǊǍǊǏǖǥǏ��ǜǊǔ��
ǡǜǘǋǥ�ǎǕǩ�ǗǘǌǘǓ�Ǜǝǖǖǥ�ǛǜǊǕǘ�ǘǡǏǌǒǎǗǘ��ǡǜǘ�ǘǗǊ�ǔǘǗǏǡǗǊ��Ǖǒǋǘ�
ǙǘǔǊǑǊǜǦ�ǔǘǗǏǡǗǘǛǜǦ�Ǜǝǖǖǥ ǍǏǘǖǏǜǚǒǡǏǛǔǒ.

ǁǜǘǋǥ�ǎǘǔǊǑǊǜǦ��ǡǜǘ�ǛǝǖǖǊ�ǚǩǎǊ ǋǏǛǔǘǗǏǡǗǊ, 
ǗǝǐǗǘ�ǙǘǙǚǘǋǘǌǊǜǦ ǝǖǏǗǦǢǒǜǦ ǧǜǝ�Ǜǝǖǖǝ��
ǝǖǏǗǦǢǒǌ�ǏǪ�ǛǕǊǍǊǏǖǥǏ��ǜǊǔ��ǡǜǘǋǥ�ǎǕǩ�ǗǘǌǘǓ�
Ǜǝǖǖǥ�ǛǜǊǕǘ�ǘǡǏǌǒǎǗǘ��ǡǜǘ�ǘǗǊ�ǋǏǛǔǘǗǏǡǗǊ�


